» EVSiElh

JADE BIRD FIRE JBF-FHX 1/FHX?2/ FHX3 B #6184+ V1.4

JBF-FHX1/FHX2/FHX3 5348
i P LA 43
(fEFF=ME0, R EA
1 R

B R B 7= A% i 25 B4 4, JBF-FHX1/JBF-FHX2 fit& 5 7K 45 3k A FH TT 6 A2 1P66 (K1) 47 %4 2%
JBF-FHX3 Mt £ B /K42 Sk A Al A2 1P65 B 3745 2«

1.1 ERVEE
TR T .
1.2 RIS 4HEL

JBF-FHX1/2/3

[ aien
AFRE

JBF-FHX1 (#7235 4L) 800mm 7% x880mm =% 182mm & ;
ANE R T JBF-FHX2 Cii2z354L)  700mm % x700mm &x172mm J5;

JBF-FHX3 CifiZ2%4L)  450mm 9 x500mm 5% 125mm & ;
JBF-FHX1 750mmx520mm, [ € fLK/N o8 mm

TR JBF-FHX2 650mmx490mm, [#]5€ L K/NAe8 mm

JBF-FHX3  429mmx425mm, [&ZfLA/NAeS5.5 mm

T 23 E
IR FEEE ERRET BRER (BEEDMURT)
EBO
IR e JBF-FHX1 M6X8 BoEIR A T 11SF-C BERE 27177 5
JBF-61S20. JBF-61S30. JBF-61S30-H. JBF-PWMS
Bk JBF-FHX2 M6X10 | JBF-51S01, JBF-51S02. JBF-51S04. JBF-51S05.
JBF-51806

5 B A PR A B1oo, 34|



» BSSiEih
JADE BIRD FIRE JBF-FHX 1/FHX?2/ FHX3 B #6184+ V1.4

JB-QB-JBF5010.JB-QB-JBF5011. JB-QB-JBF5012.
JBF5015. JBF5016

JBF-62S20. JBF-62S30. JBF-62560. JBF5009.
JBF5013. JBF5017. JBF51S41

BN 2235 e | JBE-FHX2 | M4X10

B2 JBF-FHX3 M5X10

yiZaeay (FA7: mm)

800
750

700

700

115

R4.25

L=
LaT
|

g

520
880

880
&
2
. =

'—| e | Semr BiEE

182

JBF-FHX1 BriPfa4Eta R <1 [

. 700

580 580

1008

700

L-!J 430
a

<
A A A AR R AR AR AR RN AN,

172

JBF-FHX2 BriPfa&sta R <1

5 B A PR A 2o, 4



=» BV SFiElih

JADE BIRD FIRE JBF-FHX1/FHX2/ FHX3 B3 468 LRI V1.4
=1 | r2.73
- o L - im £
] O
El — i ) [
‘ [[c=a cxrry | [} P+ttt i . (. S ' + 4 &
trr 11 + 1 o+ 1 4
F+ 1+ 11 U S
T ¥ %5 99 0 + 1 + 1 L
b4 404 4 - %= L % 4 & @
IR 2 = SRR
b 4 4 4 4 i + + + -
11111 L D O B B §
I | ) 4 4 4 4 id - -+ -+ -
ES D Rl L il S e O L]
] s
] - = Seme BEm N
yi
B3
D35 T

125

JBF-FHX3 BriF#ALE# R <1 &

AR

RS TR e sb e S 1D W/ BT
PEERLS . JBF-FHX1/2 825 PEEALS . JBF-FHX3 A5 4)5H
B 4 48 16 B 4 48 16
17 47 22 255 Ui B 1 1 1y 77 47 22 255 Ui B 1Y 1 4y
PG7 Bli/K#3k 14
PG13.5 7K #23k 24
PG21 By 7k $z3k 2N

3 ZEER

D R R e 25 L, AL SR A A A

2) RGBSk B E A B A AL b, AT B B AR K R SR TR PR A
3) Rkt g ANPKESIFBE (RIgAIEE AT ED

4) PR A [ 5E CE BT AR N I 58 IR 2R

HEE:

1) Bl R i i A 3 2k AL A8 B 22 R By 7Kk Sk i =k

2) MRYERT KRR FE GG 1 2R LI B k, PRUEAS F I 7K B Sk TR DRy B S 4

i
w
p=i
H
N
b=

5 B A PR A



» EVSiElh

JADE BIRD FIRE JBF-FHX1/FHX?2/ FHX3 Bi 4 #64# F i 4 V1.4
i T EAHHEZ (mm) WFEA (mm)
g PG7 3-6.5 16

= PG13.5 6-12 24

- 4 PG21 12-18 33
NG

4 ERFW. RFEFH

o TEMEMITR, WAAAR R A U B S A IR AT 2 S
® KA LR BT A B A B B AR AL

B EHBIRBHERAT

Moo dke A EIERCITEEE X U 207 ALK Sk
M Z: 100871

AR 45 #k: 400 0089 119

f&  H: 010-62755692

] Hk: http://www.jbufa.com

Jade Bird Fire Co., Ltd

Address: Jade Bird Building,207 Chengfu Road,
Haidian District,Beijing,P.R.China

Post Code: 100871

Tel: 400 0089 119

Fax: +86-10-62755692

Website: http://www.jbufa.com

5 B A PR A B4, 4w


http://www.jbufa.com/

	1概述
	1.1 适用范围
	1.2 型号组成

	2性能参数
	3安装调试
	4注意事项、免责声明

